05-19 Tacoma
RCI Front Skid Plate Installation

Remove OEM skid plates if present.

Remove the stamped steel brackets that OEM skid plate was bolted I nCI Uded Hardware Klt

to. These are bolted on with larger M12 bolts. They will not be
needed once the skid plate is installed, since it will perform the A 5/16” Washer 2 ea.
same function. Removal of these brackets allows the RCI skid B. M8x1.25 40mm Hex Bolt 2 ea.
plate to sit tight to the radiator cross-member for maximum ground
clearance as well as provide full support along the front edge,
creating a stronger overall system. Save the hardware as it will be
re-used for mounting the RCI skid plate.

Nylon spacer 2 ea.

Locate the mounting holes where skid plate will be fastened.
These are located on the frame cross-member behind the front
differential, as well as the locations where bolts were removed in
step 2.

With the help of a second person or a floor jack, lift skid plate into
position and loosely install four of the M12 bolts removed during
step 2 to secure the front and center of the skid plate.

*This skid plate is compatible with both stock vehicles as well as
those utilizing differential drop kits with no modification needed.

With front of skid plate now self-supported, install the provided
M8x40mm bolts (B) with washers (A) on rear of skid plate,
inserting the provided 1/2” nylon spacers (C) on top of skid plate.
These spacers simply fill the recessed mounting area so skid plate
does not bow when bolts are tightened. Adjust plate so bolts are
as near as possible to center of mounting holes.

If installing in conjunction with transmission plate, leave
approximately 1/2” of rear bolts unthreaded to allow transmission
plate to slide in between cross-member and front plate.

Check skid plate fit and clearances and fully tighten all bolts to
OEM torque specifications. Fully tighten oil filter access port, if
equipped.

Enjoy the new protection!!!

Disclaimer: The products sold by RCI Metalworks are intended for off —road use only, should not be modified, and are for use only on the vehicle(s) specifically
stated. RCl Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RClI Metalworks will not be
liable for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and properly attached
to the vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high quality standards; however, all RCI
Metalworks products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw aluminum, the material
may have minor scratches and other blemishes caused by the manufacturing process, especially on the back side of product. RCI Metalworks is constantly
seeking to improve its products and reserves the right to make changes to any product.




